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1) Please circle TRUE if you think that the statement is true; FALSE otherwise.
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a. Consider the pseudo NMOS inverter shown above.

Statement: Increasing W value of Mx makes the value of Von increase.

TRUE / FALSE

b. Consider the pseudo NMOS inverter shown above.
Statement: Increasing W value of My makes the value of #prn decrease.

TRUE / FALSE

¢. Consider the CMOS inverter shown above.

Statement: If (W/L) ratios and absolute threshold voltage values of
PMOS/NMOS transistors are same then the switching threshold value of Vwm is
5/2V.

TRUE / FALSE

d. Consider the CMOS inverter shown above.
Statement: The output (load) capacitor is a sum of Cgs and Cep capacitors of
the transistors.

TRUE / FALSE



2) Consider the buffer of two CMOS inverters shown below. A capacitor of 10fF is
connected to the output. A signal switching from low to high is applied to the input.

Transistor parameters: co=1 fF/um?, 7,= 7,=1ps, Wer=2u, Wxi=lu, We=4u, Wxo=2u,
Lni=Lp1= Ln2= Le2=1u.
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A buffer of two CMOS inverters.
Propagation delays of an inverter is formulized as follows. C; represents the load
capacitor of the inverter.

tprr = (Ci/Cn) Tn Cy=coxWn L
trin = (Ct/Cp) 1, Cp= coxWpLp

Determine the total propagation delay at the output. Neglect Cp capacitors.

Cos-n=Ch, Ccs-p=Cp



